
CLASS: III 
ENGLISH TERM-2 

CHAPTER 5 
MEENA 

------------------------------------------------ 
QUESTION ANSWER 
 
Q1. Give one word to describe the path 
Ans. Steep 
 
Q2. What did the man say to Meena? 
Ans. The man asked Meena why she is carrying the boy on her back.He also asked if she 
was not feeling her load. 
 
Q3. Why did Meena's brother not walk up  the path? 
Ans. Meena's Brother did not walk up the path because his legs were still and he could not 
walk. 
 
THINK AND ANSWER 
 
1. Why did the man feel sorry for the Meena? 
Ans. The man felt sorry for Meena because she was carrying her brother on her back 
though she herself was a small girl. 
 
2. What do you do when do when your younger brother or sister falls down and hurt 
himself/herself? 
Ans. When my younger brother/sister falls down and hurt himself/herself I try to help 
him/her so that he/she does not feel helpless. 
 
 REFERENCE TO CONTEXT 
 Read this sentence and answer the following question. 
 
"Don’t you feel his load" 
 
a. Who said these words and to whom? 
Ans. A man in the group said these words to Meena. 
 
b. Who does 'his' refer to? 
Ans. ‘His’ refer to Meena's brother. 
 
c. Why did the speaker this? 
Ans. The man said these words because he felt sorry for Meena who had been climbing the 
hill, carrying her brother on her back. 
 
d. What happens next? 
Ans. Meena looked at him in suprise and told him strongly that the boy was her brother. 




